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Question No. 1

Metals are good conductors of heat because they-

A) Contain a glut of free electrons B) Contain very few free electrons

C) Have high density D) Atoms-are relatively far apart

¢ FAT T AT FAF giet & -

A) FTH HET SolFclel T Ush AR Bl © B) SH &A HFd Foldcld BId &

C) 37 ©elcd @i § D) TRATIL-3MeThd &Y &l &
Answer Key : A Your Response : A (Correct)

Question No. 2

A four-stroke petrol engine theoretically operates on the-

A) Otto cycle B) Brayton cycle
C) Joule cycle D) Bell Coleman cycle
4-F50 Ui oI Hgifcld T A W AT g gl
A) 3er T B) sicel T
C) e I D) Sd FlciHe Tsh
Answer Key : A Your Response : A (Correct)

Question No. 3

The sensitivity accuracy of an instrument depends on-
A) Frequency response B) Amplitude distortion

C) Temperature variations D) Hysteresis
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R IuEoT Hr TIE FAFAT 9T AR = B

A) 3dicd Reqea B) 3MATH (TFUclieys) fawqor
C) am&a aRade D) fereRfea
Answer Key : C Your Response : B (Wrong)

Question No. 4
If two links are joined at the same connection, then the joint is known as the-
A) Binary joint B) Ternary joint

C) Planar joint D) Quaternary joint

I o & Heue W 2 fF B & o 3§ Sz A e S g7

A) IEAY A3 B) Tdr SIS
C) Tl SIS D) Farei{I SIS
Answer Key : A Your Response : A (Correct)

Question No. 5

Which of the following is a low copper alloy?
A) White metal B) Muntz metal

C) Bronze D) German silver

fArfaf@d & & Sl @ T diegFT B arg 872

A) &ad a1g B) #Hcol T
C) drae D) e et
Answer Key : A Your Response : A (Correct)

Question No. 6

The strain energy stored in a body due to direct stress is-
[where f = stress, E = Young's modulus, V = Volume]

A) (f/2E)xV B) (f2/E)x Vv

C) D) (2f/E)x V
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(f2/2E) x V

YcgaT oelld & HRUT IR H AT glet dlell delld Solt (strain energy) g -
[STeT f = stress, E = Young's modulus, V = Volume]

A) (fI2E) x V B) (f2/E) x V
C) (f212E) x V D) (2f/E) x V
Answer Key : C Your Response : A (Wrong)

Question No. 7

A cantilever beam is one which-

A) Fixed at both ends B) Fixed at one end and free at other end
C) Supported at its ends D) Supported on more than two supports
& Ffeedar i 98 § -
A) g Ot W R gl & B) T ®X W &R 3R g B8R W &E&dd
gl &
C) 3=t ARt R AT & D) & ¥ 3% gHIA | gAYT &
Answer Key : B Your Response : B (Correct)

Question No. 8

Mechanism which has more than four links is-
A) Compound mechanism B) Planar mechanism

C) Spatial mechanism D) Simple mechanism

9% d7, OEd IR ¥ 30F e A & Fr Fgaar &2

A) @gFd @ (Compound mechanism) B) Tolsik dF (Planar mechanism)
C) Turfaleh dF (Spatial mechanism) D) ATYROT dF (Simple mechanism)
Answer Key : A Your Response : C (Wrong)

Question No. 9
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The difference between the actual discharge and theoretical discharge is called-

A) Slip B) Negative slip
C) Coefficient of discharge D) Work done
arafas 99 3R dgifas ga & T F R A Fgr e gl
A) TEaa B) A&RIcHA® Tad
C) REarst & i D) Rear arar R
Answer Key : B Your Response : C (Wrong)

Question No. 10

Which of the following laws states that the shear stress between adjacent fluid layers is
proportional to the velocity gradients between the two layers?

A) Archimedes principle B) Newton's law of viscosity

C) Stoke's law D) Pascal's law

fof@d # ¥ Fi9 o1 AIH I8 Tarar § & ga i 3T War F oI 39wqor gfded, a&f
Wt & g 397 Sauranst & FARETr @ §?

A) 3nfRfASS Fr Bgia B) &g 1 AT s
C) & &l fagH D) urEhe FI TH
Answer Key : B Your Response : B (Correct)

Question No. 11

The increase in carbon content in steel decreases its-
A) Ductility B) Tensile strength

C) Hardness D) All of the options

SEATT H FIefeT &Y AT 7 g g T swhr 7 & gl B

A) Tetetefierdar (ductility) B) deeT AL (Tensile strength)
C) ®oRdr D) fawedr & & @l

Answer Key : A Your Response : A (Correct)
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Question No. 12

Toughness of a material increases, when increases.
A) Strength B) Fatigue resistance
C) Stress relieving D) Machinability
forelr arer $r geoar To §, I e &l
A) §o B) werer YAEea
C) ¥¢H Relfder D) IHIGICIGE
Answer Key : A Your Response : B (Wrong)

Question No. 13

Gears are casted by-

A) Permanent mould casting B) Slush casting
C) Centrifugal casting D) All of the options
R $r o frw fafer & &r sl 82
A) TIRT A H sols (Permanent mould B) Tolr ifEcar
casting)
C) 3TRAr eas D) s=# & @ah
Answer Key : A Your Response : A (Correct)

Question No. 14

What is the full form of MPS in manufacturing?
A) Master Production Schedule B) Manufacturing Production Section

C) Minimum Production Schedule D) Maximum Production Section

fafasfor & MPS 1 qut w1 ==r 37

A) AT WsRIT RIS (Master Production B) #HegthearaRaT Wisererl Al (Manufacturing
Schedule) Production Section)

C) AfAA  WsRe RIS (Minimum D) ATFEAA WS @R (Maximum
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Production Schedule) Production Section)

Answer Key : A Your Response : D (Wrong)

Question No. 15

is the product of mass and velocity.

A) Acceleration B) Velocity
C) Linear Momentum D) Displacement
oA 3R 99 T IR g
A) TROT B) &er
C) Yf@g aifq D) faTemder
Answer Key : C Your Response : C (Correct)

Question No. 16

Ash content of a diesel fuel oil should NOT exceed-
A) 1% B) 0.50%

C) 0.10% D) 0.01%

SIS $YeT A @ WU Hice AN AV @ g ART-

A) 1% B) 0.50%
C) 0.10% D) 0.01%
Answer Key : D Your Response : B (Wrong)

Question No. 17

Austempering is also known as-

A) Isothermal annealing B) Isothermal quenching
C) Stepped quenching D) Interrupted quenching
JireeFaier #r i =g Sar g

A) 3TSATUF ATl B) 3s@IUAST Fdfaar


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

C) ¥Ts Fdfder D) ggwes Fdf=er

Answer Key : B Your Response : C (Wrong)

Question No. 18

For blanking operation, the shear is provided on the-

A) Die B) Punch
C) Half on the die and half on the punch D) Die or punch depending on the material
thickness
safeher FaTea & T, R T el R S #
A) 515 B) ur
C) 3T 3% W 3R 3mer 9 ) D) I Fr AleS & MR 9 318 AT 9T W
Answer Key : A Your Response : A (Correct)

Question No. 19
Diesel cycle consists of the processes-
A) Two adiabatics and two isothermal B) Two constant volume and two isothermal

C) Two isentropics, one constant pressure D) Two isothermal and two constant pressure

and one constant volume

e T | e A ufhare enfAer g §2

A) @ FgIsH 3R & gFEamdT B) ar f&r 3maae 3R ar gadamr
C) ar 3msdcuad, T foRaX gaa 3R e D) ar g&am 3R af R 3mado
IGEGREKIRRE
Answer Key : C Your Response : C (Correct)

Question No. 20

Which of the following laws of thermodynamics deals with entropy?
A) Zeroth law B) Firstlaw

C) Second law D) Both zeroth law and first law
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FHAEIAHI(thermodynamics) FT g1 & &l &1 fAge tgdr & Fefaa &2

A) e A B) Ugell fags
C) g f=aA D) e=adi(zeroth) fa# 3R ugerr A gt
Answer Key : C Your Response : C (Correct)

Question No. 21

What is the colour code of pure tungsten tips?
A) Yellow B) Green

C) Red D) Brown

€ IR o9 Fir T A (colour code) T B2

A) drer B) &
C) ©ret D) s
Answer Key : B Your Response : B (Correct)

Question No. 22

Which of the following is also used for marking right angles and measuring straightness of

surfaces?
A) Chisel B) Centre punch
C) Steelrule D) Try square

AT & O Faer 3TAeT HEO Fr RFAT e 3R Tdg Hr e (straightness) AT STar
&2

A) RS B) HeX Ud
C) T & D) 25 TFARR
Answer Key : D Your Response : D (Correct)

Question No. 23
The commonly used flux in brazing is-

A) Borax B) Rosin
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C) Lead sulphide D) Zinc chloride

ST # e SgFT ForE Fhe A1 82

A) SRFH B) ufaa
C) o3 Howiss D) 5% FRSS
Answer Key : A Your Response : D (Wrong)

Question No. 24

Which of the following material has the maximum carbon content?
A) Castiron B) Brass

C) Mild steel D) Stainless steel

ST & fhd Tard I FeeT Al wed 3R g 87

A) FRT AT B) dider
C) #g s¥ud D) Tederd TErel
Answer Key : A Your Response : A (Correct)

Question No. 25
Which of the following is a multispot welding process?
A) Seam welding B) Percussion welding

C) Projection welding D) Thermit welding

SoTd § il T Teh FAeITdic aAfesaT ishar &7

A) @#F afesa B) W afesar
C) wiataere afeser D) uffc afesar
Answer Key : C Your Response : C (Correct)

Question No. 26

In grinding, which of the following numbers represents the very open structure?

A) 1 B) 5
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C) 9 D) 16

ST A, fAFiaf@a # @ FlT @ @& agd Gell T (open structure) Fr ATl 2

A) 1 B) 5
C) 9 D) 16
Answer Key : D Your Response : D (Correct)

Question No. 27

The apparent weight of a man in a lift is less than the real weight when the lift is going down-
A) Freely B) Under the force of gravity

C) With some constant velocity D) With some acceleration

fOoe & 3T #1 RN g (apparent weight) adfd® aod ¥ FH gidr §, 9 AU

oy @ 3R ST W A g
A) TTdAT H B) &carehyUT ST & B
C) ¥o &R a1 & Ay D) & ROl & ATy
Answer Key : D Your Response : B (Wrong)

Question No. 28

Which of the following branches deals with forces and their effects acting upon the machine

parts in motion?
A) Kinematics B) Energetics

C) Dynamics D) Statics

ffaf@d 7 ¥ Fia & arEr afaie 7T JEiT | FRRa Ta0t 3R 39 gemEt O g&6feT &2

A) UgaTiahr B) Uooiced
C) arfa fa=mer D) ®é=d
Answer Key : C Your Response : C (Correct)

Question No. 29

Ideal fluid is one which has no-
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A) Viscosity

C) Both viscosity and surface tension

e g9 9y a8 @ar ¢ e

A) T
C) AT AR Y& FoA1a gt

Answer Key : C

Viscosity is a measure of resistance to-

A) Flow

C) Sound

T,
A) el (JaTE)
C) «afar

Answer Key : A

Which of the following is a lower pair?
A) Piston and cylinder

C) Beltdrive

et & @ e 39eTRd e oA 82
A) e 3R [Beist
C) dec gred

Answer Key : A

Weld spatter is a type of-

GET IT ON
Google Play

B) Surface tension

D) None of the options

sTer g
B) Is& ool
D) SH & HI$ el

Your Response : D (Wrong)

Question No. 30

B) Light

D) Current

Your Response : A (Correct)

Question No. 31

B) Cam and follower

D) Gear
B) Fa 3R Wd3R
D) T

Your Response : A (Correct)

Question No. 32
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A) Welding electrode B) Welding stick
C) Goggles D) Welding defect
Jo3 T TH YHR F gl
A) afese seacls B) adfese e
C) =R D) afeser aw
Answer Key : D Your Response : D (Correct)

Question No. 33

are the devices used to measure the force through indirect methods.

A) LVDT B) Load cell

C) Flow meter D) RTD

X 3YFOT §, TSeTehr 39T 3vyeT [ftRT F 9 & AT & v Fr sar 81

A) LVDT B) oS ¥dl
C) well #HieX D) RTD
Answer Key : B Your Response : B (Correct)

Question No. 34

Which of the following materials is used as an abrasive in grinding wheel?
A) Aluminium oxide B) Silicon carbide

C) Cubic Boron Nitride D) All of the options

fef@a F & g aeeh F1 9T aEET i 7 3vads & & 7 BFar sar 872

A) TogAHIA 3HiFarss B) fafeeld #Ess
C) FYideh NI ASCISS D) &l 7 & @l
Answer Key : D Your Response : D (Correct)

Question No. 35

The specific energy E corresponding to the critical depth y. has the value-
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A) E=08y, B) E=1.25Y,

C) E=1.5y, D) E=2y,.

FifaF TS v, F Fioad AT 33T E &7 AT fhdem aar 872

A) E =038y, B) E =125y,
C) E=15y, D) E=2y,.
Answer Key : C Your Response : C (Correct)

Question No. 36

For a maximum horizontal range, the angle of projection of a projectile should be-

A) 30° B) 45°
C) 60° D) 75°
Iftwan Afas W & faT, weicT 7 w8iT St gl =fgwl
A) 30° B) 45°
C) 60° D) 75°
Answer Key : B Your Response : B (Correct)

Question No. 37

Which of the following losses is NOT a minor loss for a fluid flowing through a pipe?
A) Loss due to sudden contraction B) Loss due to sudden enlargement

C) Loss due to obstruction in flow D) Loss due to friction

o & @ *la & g, BT F @ g g vare F AU [0y gl A8 872

A) 3T HFTT & FRUT 3cUee glfed B) 37dleieh AR & HRUT 3ceol gl
C) 9dIg H 37aUYT & HRUT 3ceoT Il D) ©¥UT & HRUT 3ceal gTfeT
Answer Key : D Your Response : D (Correct)

Question No. 38
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Y alloy is a nickel-containing alloy.
A) Aluminium B) Copper
C) Brass D) Bronze
Y Ay arg o e gad P enqg @
A) TogHA=IA B) draT
C) drda D) &g
Answer Key : A Your Response : A (Correct)

Question No. 39

In spark erosion machining process, gap between tool and workpiece is filled with-

A) A photo etchant B) Brine solution
C) Acid solution D) Aliquid dielectric
T &ROT AN SRR #, gor AN A & A & Rew TR F ___ q@WT ST Sl
gl
A) Wil HeR® B) oo faeraeT
C) 3wl faeraat D) &R WRdegd
Answer Key : D Your Response : D (Correct)

Question No. 40

What is the condition of equilibrium of a body if the Resultant 'R' of a system of concurrent

forces is zero?
A) >X=0only B) >y =0only

C) >X=0o0r3y=0 D) >X=0andy=0

Ifg wHadt Tt & ve e & aRomer R e § af Ris & dqaer @ afa o= g
A) 3X = 0 Faa B) Sy = 0 &ad

C) >2X=0o0r =0 D) >X=0and >y =0

Answer Key : D Your Response : D (Correct)
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Question No. 41

The specific speed of a hydraulic turbine depends upon the-
A) Power developed B) Discharge and power developed

C) Head of water D) Power developed and head of water

grssifas asd fr fAftse aifd 59 W A3k = &

A) Taefada gax (afFa) B) fadg= 3R fa=f@d gax (afFd)
C) drex (Sieh) g8 D) fasf@ad ey (afed) 3k arex &3
Answer Key : D Your Response : D (Correct)

Question No. 42

Rake angles can be-

A) Zero B) Positive
C) Negative D) All of the options
& Hor & Fhd &
A) YA B) &recHS
C) *®UTcHAS D) @3t fased
Answer Key : D Your Response : D (Correct)

Question No. 43

Moment of inertia of a triangular section of base (b) and height (h) about an axis passing

through its centre of gravity and parallel to the base is-
A) bh3/4 B) bh/s
C) bh3/12 D) bh3/36

MR (b) 3R 541§ (h) 9 U PAPEHFR ARG F, F6F MUX F FAK 3R 389F o Fa
¥ IR aell 3187 W SA3cd IOl A Aifsre?

A) bh3/4 B) bh3/s
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C) bh3/12 D) bh3/36

Answer Key : D Your Response : D (Correct)

Question No. 44

Which of the following is NOT a boiler accessory?
A) Air preheater B) Economiser

C) Super heater D) Fusible plug

fAfaf@d § & Fia @ v sfaeR Al 78 87

A) TR M B) SRAIABIR
C) g X D) WS Tordl
Answer Key : D Your Response : D (Correct)

Question No. 45

A piezoelectric crystal can be used to measure-
A) Mass B) Velocity

C) Acceleration D) Flow

"9 & v deisafdes fheed 39T Far ST 9 gl

A) gegATT B) dar
C) calor D) Ydre
Answer Key : C Your Response : D (Wrong)

Question No. 46

The atmospheric pressure at sea level is-

A) 101.325 kN/m>2 B) 10.3 m of water
C) 760 mm of mercury D) All of the options
e dd W agHSA g frctatr giar 87

A) 101.325 kKN/m?2 B) 10.3 HeX STl & ¥ & RN
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C) 760 fAHT 9k & & & SR D) fasreal & & @it

Answer Key : D Your Response : D (Correct)

Question No. 47

Which of the following is/are an assumption(s) made in the theory of Simple Bending?

A) The material of the beam that is subjected B) The effect of shear stresses is neglected
to bending is homogenous

C) The beams have a symmetrical cross- D) All of the options
section and they are subjected to bending
only in the plane of symmetry

WA gt F RAgid # A 15 aron) F=faf@a F a ia @ 8§82

A) §F &7 ggrd S dfFer & i §, FAST B) 39%90r yfdser & UHIG 3978 &I §
glaT ©

C) &iF # Teh WATAT 3IEY &IC giar ¢ AR D) 3aa & @l
d had FHAEYAT & Toldd H SfsdT o 3refieT
gld &

Answer Key : D Your Response : D (Correct)

Question No. 48

The phenomenon of weld decay is found in-

A) Castiron B) Stainless steel
C) Brass D) Bronze
do5 &7 &I "ea # g 8
A) Tordl digr B) ®eTeld el
C) e D) &ieg
Answer Key : B Your Response : B (Correct)

Question No. 49

Brinell and Rockwell hardness values are almost identical up to a hardness of-
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A) 60 kg/mm? B) 130 kg/mm?
C) 235kg/mm? D) 300 kg/mm?
foeter AR (rder FoRarT AT, __ T FORAT de IHT FAWT g ¢l
A) 60 forarm/fA#? B) 130 feram/fA#>
C) 235 fram/fA? D) 300 fram/fa#?
Answer Key : D Your Response : B (Wrong)

Question No. 50

Which of the following is a mechanism for mechanized movements of the carriage along
longitudinal axis?

A) Cross-slide B) Compound rest

C) Apron D) Saddle

IJSEd 3787 (longitudinal axis) & W T & FFdIfeld Haell & fav Amfaf@a & @ #la @
frar-Rfer &2

A) I TAES B) &4d3s T
C) WUt D) dsa
Answer Key : C Your Response : A (Wrong)

Question No. 51

One ton refrigeration machine implies that the machine-

A) Has a gross weight of 1 ton B) Consumes one ton of refrigerant in 24
hours

C) Has the capacity to convert one ton of D) Is capable of extracting heat that would
water into ice melt one ton of ice at 0 C into water at 0’ C
in a period of 24 hours

T o IMhorer 7T &1 31 & & el |
A) T T a1 1 A § B) 24 ©¢ & UH <ol INholle T @I AT &

C) H U& Tl Ul I 9% H Solel T &THAT & D) 3del FSAT fTshiNd Flal & TeTH g, foideir
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24 °¢ & 3@ # 0° C W HAlgg a6 A
g 0° C d9 alel 9l H dceled &
T AT gef

Answer Key : D Your Response : D (Correct)

Question No. 52

The bending moment diagram for a simply supported beam with a load at the mid span is a-

A) Parabola B) Hyberbola
C) Rectangle D) Triangle
AL VT & HR arell T W FARGT 17 & AT dhet et 3mE gier gl
A) TWIe—ARR B) 3ifAwacamsR
C) AR B)IELEICAN
Answer Key : D Your Response : A (Wrong)

Question No. 53
Which of the following welding is NOT a fusion welding process?
A) Submerged arc welding B) Plasma arc welding

C) Shielded metal arc welding D) Friction welding

s & Pl AT afeSar, wyeet afesar ufshar 78t &2

A) TEASS 3T dfesar B) TolleAT 3T afesdr
C) fMess Ao 3T Afesar D) TheereT dfesdr
Answer Key : D Your Response : D (Correct)

Question No. 54

An unrestrained rigid body in space possesses degrees of freedom.
A) Three B) Four

C) Five D) Six

e F v AR e e & & A g B
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A) B) @R
C) U D) ©%
Answer Key : D Your Response : B (Wrong)

Question No. 55

The algebraic sum of the moments of all the vertical forces acting on one side of the point
about the point is known as-

A) Bending moment B) Section modulus
C) Shear force D) Moment of inertia
fig W g & v AN FATT T FeaeR a8 it Fr e der Fgelldl &l
A) el 3TEDT B) @l HigorH
C) HUEYUT & D) Sigca 3ol
Answer Key : A Your Response : A (Correct)

Question No. 56

Which of these has the highest specific gravity?

A) Brass B) Copper
C) Lead D) Steel
s & Rt ged sfte ARt I 7
A) s (i) B) IR (cre)
C) =5 (¥ D) ¥l (FEdTe)
Answer Key : C Your Response : A (Wrong)

Question No. 57

consists of pressing a metal inside a chamber to force it out by high pressure

through an orifice which is shaped to provide the desired form of the finished part.
A) Hot spinning B) Hot extrusion

C) Hot pickling D) Cold peening
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# U A 3°9 g F T 0 B § Ahe & fAv IRT F 8 o w1 H
3eT galel hr YT WA B &, 39 B F RR gof I qifdd §7 FelT Fa F v 3w
fecam e &1

A) gic fafear B) glc TFagalel
C) gic Meforer D) @les difser
Answer Key : B Your Response : D (Wrong)

Question No. 58
Which of the following is NOT a surface finishing process?
A) Honing B) Broaching

C) Lapping D) Turning

wWhe AR Sw Aefaf@a 7 & #ia ar a8 82

A) @ B) sfar
C) wifder D) efefar
Answer Key : D Your Response : D (Correct)

Question No. 59

The force applied on a body of mass 100 kg to produce an acceleration of 10 m/s?, is-
A) ON B) 100N

C) 500N D) 1000 N

10 m/s2 FT T 3T FA & AT 100 R gegART gl Rl AT W 9T S arer s
AT AT

A) ON B) 100 N
C) 500 N D) 1000 N
Answer Key : D Your Response : D (Correct)

Question No. 60

The major constituent of phosphor bronze is-
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A) Zinc B) Copper

C) Lead D) Aluminium

BIREPR HIET T TG T §-

A) & B) &M
C) &3 D) TegHfazTs
Answer Key : B Your Response : A (Wrong)

Question No. 61

Which of the following statements is FALSE about planers?
A) Work reciprocates horizontally B) Tool remains stationary during cutting

C) Tool reciprocates horizontally D) All of the options

AR & AR H FAH & HleT AT FYA AT 8?2

A) FrdaEq] aifdst feum & gae § B) @il & eIl Tof TEUX @ &
C) To &ifdsr feem & gHaT & D) fasedl & I g
Answer Key : C Your Response : C (Correct)

Question No. 62

If the Mach number of a flow is 3, then the flow is known as-
A) Subsonic B) Supersonic

C) Sonic D) Laminar

gfe frdt vag fr #A% T&ar 3 §, df vag F e F O H 14 ST g

NBEELIGED B) guwafais
C) Gifa=s D) oH AR (FI)
Answer Key : B Your Response : B (Correct)

Question No. 63

The dimensions of the Chezy coefficient C in [MLT] notation system are-
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A) L B) MmO 07O

C) L1727 D) 17412

[MLT] HehceT YoTTell & <ol IOl C r faam =r g7

A) L B) MO L 00
)] L1271 D) [-1/4 12
Answer Key : C Your Response : C (Correct)

Question No. 64

Which of the following statements is/are CORRECT in grinding wheel selection?
A) Soft grade for soft material B) Hard grade for hard material

C) Hard grade for soft materials D) All of the options

TERET AT YR F TG 7 PArfaf@a 7 @ ST T FUT & 872

A) TR T & T RAT I3 B) ®oR IEET & folt HoR I8
C) R A & foT F:oR A3 D) fawedr & & @l
Answer Key : C Your Response : C (Correct)

Question No. 65

The critical radius of insulation for spheres is given by-
(where k is the coefficient of thermal conductivity and h is the convective heat transfer

coefficient)

A) k/h B) k/4mh

C) h/2k D) 2k/h

airalf(spheres) & faw faegaiuear #ir wifaw Aer§ #r SaRT S fRaT ST B

(STel k FSHIT dTelehdl FT [T § 3R h Fagelr FHIOT 0T §)
A) ki B) k/4 1 h

C) h/ 2k D) 2k/h
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Answer Key : D Your Response : C (Wrong)

Question No. 66

Product layout is also known as-

A) Process layout B) Line layout

C) Functional layout D) Fixed position layout

Wsee A3N3C A st g S B

A) WET H33C B) W8 W33

C) HATcHS (harleld) 33T D) fafeaa Rufa (fherrs aisher) d3m3e
Answer Key : B Your Response : D (Wrong)

Question No. 67

In a centrifugal pump casing, the flow of water leaving the impeller is-
A) Rectilinear flow B) Centrifugal flow

C) Radial flow D) Free vortex flow

TH FegMaRS 967 0T &, IRdT SFAeR SIS alel 9l FI aig &-

A) 3IdrRR(Rectilinear) 9dTg B) SheglIdRe UdTg
C) If3Te varg D) I ariéed ydrg
Answer Key : D Your Response : C (Wrong)

Question No. 68

The chemical used in generating acetylene is-
A) Carbon B) Charcoal

C) Calcium carbide D) Nitrogen

RN Scdeet ot H G THR—IT gIeT ¢l
A) FEe B) aRehrel
C) *forrH FE18s D) sTserstet
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Answer Key : C Your Response : D (Wrong)

Question No. 69

If the specific speed of turbine is more than 300, the type of turbine is-
A) Pelton B) Kaplan

C) Francis D) Pelton with nose jets

Ifeg s fr fAaflse a1fd 300 & 310 §, aF BT F1 IR §-

A) Yered B) hcelel
C) wifaw D) ISl Sic & ATy dolcaT
Answer Key : B Your Response : B (Correct)

Question No. 70

A module is expressed in-

A) mm B) mm2

C) mm/number of teeth D) Dimensionless

AMF (Agge) # _ F AwRa R s g

A) & B) 2
C) TA#Y gral $r gear D) 3maeRfgd(Dimensionless)
Answer Key : A Your Response : C (Wrong)

Question No. 71

Interference exists between the-

A) Low limit of hole and high limit of the B) Low limit of hole and low limit of the shaft
shaft

C) High limit of hole and low limit of the shaft D) High limit of hole and high limit of the shaft

FEThH & &g # g g &
A) &g & e @ 3R ave fr 3= dEr B) g i [ea @@ 3k arve fr [ e
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C) &g &1 3Ta O 3R awe fir o=t dem D) g T 3za e 3R e $r 3Tg @

Answer Key : C Your Response : A (Wrong)

Question No. 72

Which of the following arc welding methods is used for thin sheets as well as in difficult-to-
access positions?

A) Short arc welding B) Long arc welding

C) Spray arc welding D) Pulsed arc welding

ﬁmﬁ#mmaﬁ;ﬂwmmam*mﬂagﬁmﬁq@mmw%m
ofr frar Smar &7

A) e 3T afes B) e 3 dfeser
C) T 3T dfesar D) TGfgd 3 afesr (Pulsed arc welding)
Answer Key : A Your Response : A (Correct)

Question No. 73

A body is thrown vertically upwards with an initial velocity 15 m/s. How much time would the

body take to get back to the point from where it was thrown?(g = 10 m/sz)
A) 1 second B) 2 seconds

C) 3 seconds D) 4 seconds

fUs S YRMEF o1 15 HeY@Fs & WY dead § § FW A 3R b sian g1 Bz #r 39 [g
W a9 A F Frcar TR o919, Sigi ¥ 39 $er I=r a? (g = 10 m/s?)

A) 1 d&3 B) 2 @%s
C) 3 @&s D) 4 ¥%3
Answer Key : C Your Response : B (Wrong)

Question No. 74

The size of the grinding wheel is represented by-

A) Wheel's diameter x thickness x hole size B) Hole size x wheel's circumference x
thickness
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C) Thickness x Hole size x wheel's radius D) Hole size x thickness

u¥or T (grinding wheel) &T 3R % GaRT g2ITAT SITaT 872
A) T FI T x Al x g o AR B) &g & 3M&R x Th dl IR x AlCE
C) A x &g FT JSR x T & Faar D) &g &1 3M$R x Al

Answer Key : A Your Response : A (Correct)

Question No. 75

In automobiles, Hooks joint is used between-

A) Flywheel and clutch B) Clutch and gearbox

C) Gear box and differential D) Differential and wheels

iSRS #, g Silge & 3TN ____ & g 7 BRar S g

A) TS T 3R Fo B) Fora 3R FrRRered

C) TR dfFw 3R BwilRge D) fEwifdrge 3k e
Answer Key : C Your Response : C (Correct)

Question No. 76

Which of the following is an example of a sliding pair?
A) Square bar in a square hole B) Wheel rolling on a flat surface

C) A shaft with collars in a circular hole D) A solid cylindrical bar inside a hollow shaft

fAfaf@d & @ i a1 ToBET 397 F1 tH eI 87

A) T FIeR &g H THER B3 B) ®UC TAE W efGehdl §34TE|1%‘€IT
C) U e fBg # Hio} & A1Y Teh AP D) Th TGl AMFE & 3He Teh SF Solellhk
33
Answer Key : A Your Response : A (Correct)

Question No. 77

Which of the following is NOT a case hardening process?
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A) Normalizing B) Annealing

C) Cyaniding D) Both Normalizing and Annealing

ffaf@d & ¥ Fia S T T 78 &2

A) AR S RGIEE
C) arsetsfsar D) dAiAensteier 3R wAifoier gt
Answer Key : D Your Response : D (Correct)

Question No. 78

Clearence ratio should be increased for bearings of diameter less than-
A) 0.1m B) 0.01m

C) 1Tm D) 10m

¥ FH N & I & AT FIIE RAT 61T AT TIRT

A) 0.1 m B) 0.01 m
C) 1T m D) 10 m
Answer Key : A Your Response : B (Wrong)

Question No. 79

In a single point turning operation of steel with a cemented carbide tool, Taylor's tool life
exponent is 0.25. If the cutting speed is halved, then the tool life will increase by-

A) Two times B) Fourtimes

C) Eight times D) Sixteen times

HRfe gord F1ess 3UaOT & Ay Tl & fHorer dige efoter JifaereT &, T g s veleie
0.25 &1 Ife ckT aifa & 3TeT T AT ST §, o 3USOT FT ShadAdrel e 9¢ STIMN?

A) ar T B) R =T
C) 3 T[T D) g [T
Answer Key : D Your Response : D (Correct)

Question No. 80
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For an absolutely white or specular body-

(where a = absorptivity, p = reflectivity, T = transmissivity)

A) a=1,p=0andTt=0 B) p=Tanda=1t=0
C) tT=1anda=p=0 D) a+t=Tandp=0
faepa abhe a1 Ve &l & fav-

(STeT a = 3raAMudr(absorptivity), p = TRiaddi(reflectivity), T = HaRU™AT(transmissivity)

A a=1p=03RT1=0 B) p=13Ra=1=0
C) t=13Ra=p=0 D) a+t1=13Rp=0
Answer Key : B Your Response : B (Correct)
Question No. 81
LVDT has-

A) One primary coil and two secondary coils  B) Two primary coils and one secondary coil

C) One primary coil and one secondary coil D) Two primary coils and two secondary coils

LVDT # g gl
A) TF TUFF e 3R a gfadEd FEel B) &l WUl et 3R uH afacias e
C) wh wrafAs® Fsel 3R v fachas Fzeh D) & wrafds Fselr 3t ar efacdaes Feelr

Answer Key : A Your Response : A (Correct)

Question No. 82

What is the chemical formula of Acetylene?

A) CoHy B) CoHg
C) CyHo D) CoHs
TRl FT TS T FiT @1 82

A) CoHy B) CoHg
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C) CyH, D) CoHs

Answer Key : C Your Response : A (Wrong)

Question No. 83

The theory of failure applicable to brittle material is-
A) Maximum principal stress theory B) Maximum shear stress theory

C) Maximum strain energy theory D) Maximum shear strain energy theory

HIN 9ard (brittle material) T @ BeY aTel fawerar gl (theory of failure) HleT &T 872
A) 30saA yAE ®€E &g (Maximum B) 3ftad R ®&&d@ @eid  (Maximum

principal stress theory) shear stress theory)
C) 3fpddAr ®A Fot f&gid (Maximum D) 3’f¥&da RRR & For RBgid (Maximum
strain energy theory) shear strain energy theory)
Answer Key : A Your Response : C (Wrong)

Question No. 84

Short circuit transfer in MIG welding is also known as-

A) Spray transfer B) Dip transfer
C) Globular transfer D) Free flight transfer
MIG 3feser & ené affe Tawy &t s gr ST B
A) T CERT B) f3u grawe
C) TeIgeRk T D) thr Fasc ST
Answer Key : B Your Response : A (Wrong)

Question No. 85
Which of the following alloys contain(s) nickel?
A) Inconel B) Invar

C) German silver D) All of the options
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frfaf@d # ¥ fFw e aig 7 e giar 82

A) Sealdel B) =aR
C) ST Reax D) 3R ¥ @l fasheq
Answer Key : D Your Response : C (Wrong)

Question No. 86

A current meter is used for the measurement of-
A) Pressure B) Velocity

C) Viscosity D) Electrical charge on fluids

Fic HIeT &1 39T FE & AT & v Har smar 82

A) e B) g
C) IreIdr D) R W faegd 3maer
Answer Key : B Your Response : A (Wrong)

Question No. 87

Which of the following is the major constituent of corundum?
A) Carbon B) Diamond

C) Si0, D) Al,03

PRUSH I AET Iada F=faf@d # & = g7

A) FreeT B) &RT
C) SiOy D) Al»,O3
Answer Key : D Your Response : A (Wrong)

Question No. 88
In which of the following processes is flux used in the form of granules?
A) Submerged arc welding B) Gas arc welding

C) DC arc welding D) Argon arc welding
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goti W fore uftham 31 Tore @Y Aegew & F 7 39T R S 82

A) TEHSS T dfesdT B) 3t 3 afeser
C) DC 3 dfeser D) 3Tt 37 dfeser
Answer Key : A Your Response : A (Correct)

Question No. 89

A spherical pair possesses __________ degree of freedom.
A) 1 B) 2
C) 3 D) 4
U N TA & I T A B e 81
A) 1 B) 2
C) 3 D) 4
Answer Key : C Your Response : A (Wrong)

Question No. 90

Which of the following is/are the common sources of light used in interferometer?
A) Krypton 86 B) Mercury 198

C) Helium D) All of the options

ST 7 T TN &l VAR A ffaf@d & & i a1 82

A) fohcee 86 B) #Reglr 198
C) giferas D) fashedl & & Y
Answer Key : D Your Response : C (Wrong)

Question No. 91

Which of the following laws states that "When a system is at zero absolute temperature, the
entropy of system is zero"?

A) Zeroth law of thermodynamics B) First law of thermodynamics

C) Second law of thermodynamics D) Third law of thermodynamics
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s ¥ e Rgld & qUR, "9 A qomell L AT a9 gl g, dr goreh @r
Tegrdr T it 87

A) dMEriaeRT @ Eadr A B) drgarfaehr &1 gusd fAgs
C) dreIiaeh! & giada aH D) drErfaehr @1 o fage
Answer Key : D Your Response : D (Correct)

Question No. 92

For the same compression ratio, the efficiency of a dual combustion cycle is-

A) Less than Diesel cycle efficiency B) Less than Diesel cycle and greater than
Otto cycle efficiency

C) Less than Otto cycle and greater than D) Greater than Otto cycle efficiency
Diesel cycle efficiency

A ST AT F AT, AeY g5 TR P GaT &

A) 3T Tk S&TdT 8 HA B) 3iotel d%h & HA 3R Hler I% c&ar &
By
C) 3ier =wsh & &A 3R SIotel Tsh G&IAT & D) 3HIeT =sh S&TAT R Jof=r H 30t 1
kiBED
Answer Key : C Your Response : C (Correct)

Question No. 93

In arc welding, the temperature of heat produced by the electric arc is of the order of-
A) 3000° C to 4000° C B) 4000° C to 5000° C

C) 5000° C to 6000° C D) 6000° C to 7000° C

3 Afeser 7 facgd 3 S@RT 3cest AT &I dT9AT 3197 & fre T 31 gier 87
A) 3000° C & 4000° C B) 4000° C & 5000° C
C) 5000° C & 6000° C D) 6000° C & 7000° C

Answer Key : D Your Response : B (Wrong)
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Question No. 94

Which of the following codings of a grinding wheel is correct?
A) WAG60K7V B) KWA60V7

C) V760KWA D) 607 KV WA

fafaf@a #ifSer & & avor T(grinding wheel) $r Fia & FifEST TE &2

A) WAGB0K 7V B) K WA 60V 7
C) V760K WA D) 60 7 KV WA
Answer Key : A Your Response : B (Wrong)

Question No. 95

The temperature of a radiating surface changes from 400 K to 1200 K. The ratio of total
emissive powers at the higher and lower temperatures would be-

A) 3 B) 9

C) 27 D) 81

v fARROT g F AT 400 K ¥ FaW 1200 K & ST g1 3% 3R st av W g 3o
AfFTat T AT FT grem?

A) 3 B) 9
C) 27 D) 81
Answer Key : D Your Response : D (Correct)

Question No. 96

Tuyeres are used to-

A) Feed the charge in the cupola B) Allow the air in the combustion zone of
cupola
C) Collect the molten metal D) Throw the exhaust from the cupola

A) FAeT F TGrel g FwET B) Ul & &geT &3 & gaT &l 31 ol
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C) foerem g3 erq helee =T D) sdtell & fAsra thepall
Answer Key : B Your Response : D (Wrong)

Question No. 97

Which of the following joints uses filler material?
A) Autogenous joints B) Homogeneous joints

C) Heterogeneous joints D) Both Homogeneous joints and
heterogeneous joints

T & & v Sig & e Wl 7 393hT gar 872

A) 3SR g B) gAiforisa as
C) gefsism g D) gIHAITS3N SIS 3R geUTS=3rd s gt
Answer Key : D Your Response : B (Wrong)

Question No. 98

If the effective length of a column is twice the actual length, then the column is

A) Fixed at one end and free at the otherend B) Fixed at one end and hinged at the other

end
C) Hinged at both the ends D) Fixed at both the ends
TRy et ot B S Tl AR dar & QN 8, o Fow J
A) T BR W fhees AR g@l B W H B) T BR W fhees 3N g@l B8R W fear
(7<) El
C) @il BR 9T feehr g3m D) &=l ©R 9 fhares
Answer Key : A Your Response : A (Correct)

Question No. 99

Which of the following states that a system of external forces acting on a body in motion are
in dynamic equilibrium with the inertia force of the body?

A) D'Alembert's principle B) Principle of work and energy

C) Impulse momentum principle D) All of the options
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gH A Pl @1 AgA I8 Tarar ¢ B e aifoefier Ris(body) R R arew &t &1 A,
Rz & SI3a s & A IfAST AFAGEAT & e g2

A) 3 waFEse FT &g (principle) B) & 3R a1 &1 Rgid
C) 3raer a1 f&gid (Impulse momentum) D) fasedt & & @Y

Answer Key : A Your Response : A (Correct)

Question No. 100

Which of the following is/are the characteristics of Elastomers?
A) It has non crystalline structure B) It does not conduct electricity

C) It has low softening temperature D) All of the options

gAY & fRvard fefaf@a 7 & =iq @ 8782

A) 3EH IR TohecallT TAAT gidl & B) ug fosTell &1 AT A&l HdT &
C) 3uH fae Airefaer ag#eT gar & D) s & @eft
Answer Key : D Your Response : B (Wrong)

Question No. 101

Hardness of Martensite is about-

A) RC 65 B) RC 48
C) RC57 D) RC 80
ATEATST Y FHORAT AT gl &
A) RC 65 B) RC 48
C) RC 57 D) RC 80
Answer Key : A Your Response : A (Correct)

Question No. 102

Which of the following represents the isentropic process?
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A) Irreversible Adiabatic process B) Reversible Adiabatic process

C) Reversible Isothermal process D) Irreversible Isothermal process

faf@a 7 ¥ Fiaar dARF afkar geifar 72

A) TRERRS 3R 3aRadsi gRear B) ufumfes 3R ufdadt ufkar
C) THaMr 3R wfdadr ufshar D) FHaY 3R 39aRadera wfshar
Answer Key : B Your Response : B (Correct)

Question No. 103

The horizontal to vertical side slope in case of Cipoletti weir is-
A) 1:1 B) 1:3

C) 1:2 D) 1:4

A 35X & A 7 AifasT ¥ FEIUR 987 yaorar fraer 872

A 1:1 B) 1:3
C) 1:2 D) 1:4
Answer Key : D Your Response : C (Wrong)

Question No. 104

The horizontal component of force on a curved surface is equal to the-

A) Weight of liquid vertically above the B) Weight of liquid retained by the curved
curved surface surface

C) Product of pressure at its centroid and D) Force on a projection of the curved surface
area into a vertical plane

U gATAER Hclg W o F &ifdsl geh T & e’ §-

A) &g Tdg ¥ FIW ItaTeR (dfédhe) T & B) & T SaRT Tl I@T AT dlel Sl
T HT Jold gotel

C) 38+ Fogeh N &1F W g T AUhA D) TH FEadltR Tolel (WHA) H Hes FdAg &
JaquT 9T el
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Answer Key : D Your Response : C (Wrong)

Question No. 105

The ratio of inertia force to viscous force is called-

A) Prandtl number B) Grashof number
C) Biot number D) Reynolds number
3T 9 AR T 9 F AT F el ST &
A) Yecde HET B) 3ImATH TEAT
C) sic §&am D) (dlesd A&l
Answer Key : D Your Response : D (Correct)

Question No. 106

The idler pulley is used for-

A) Maintaining belt tension B) Changing direction of rotation

C) Stopping motion frequently D) Running during idling periods only

3MsseR REN(idler pulley) & 39T & fow fFar sirar 1

A) o EAA AT W@ B) AT (TFHT) T G2 Seeled

C) 9R &R a1fd T Udhel D) ae fafSha 3@fr & e Teme
Answer Key : A Your Response : B (Wrong)

Question No. 107

When a thin cylindrical vessel is subjected to uniform pressure acting inside of it, the hoop

stress is-
A) Half of the longitudinal stress B) Equal to the longitudinal stress
C) Twice the longitudinal stress D) Thrice the longitudinal stress

S T Jdell delelh 9T, 3Hd 3eT PN ThAAE g & HefieT giar &, o g7 & (hoop
stress) giar Bl

A) 3Eeed widee (longitudinal stress) T B) 3fIdEd Uideel & SRR
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3
C) 3ICEd gfael &l ST D) 3IeEd gfdael &l e
Answer Key : C Your Response : A (Wrong)

Question No. 108

Trepanning operation is used for-
A) Bevelling the edges B) Finishing the ends of the job

C) Cutting grooves D) Producing large holes

SqfRer TR FT 3TN F fow frar Sirar 1

A) THaRT r safcier B) Sig & RRT T ik
C) IcH ®ea D) &3 &
Answer Key : D Your Response : A (Wrong)

Question No. 109

Which of the following is true in case of Impulse turbine?
A) Always operated submerged B) Makes use of a draft tube

C) Is most suited for low head installations D) Converts pressure head into velocity head
throughout the vanes

3T GBS & AFS W SoIH § TT FT §7

A) BAT TAHIA gl AT BT & B) WdTd aTell &l 39T T &
C) o 835 TUYaT & T & 39 & D) W daT # g MY & Jor MY # qRafda
AT &
Answer Key : D Your Response : D (Correct)

Question No. 110

Which of the following G-codes is used for imperial units?
A) G20 B) G21

C) G04 D) G28
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SFNRIT ARSI & AT g9 F FlaT A1 G-z 39AT F”aAr Srar 872

A) G20 B) G21
C) G04 D) G28
Answer Key : A Your Response : A (Correct)

Question No. 111

Investment casting uses a pattern made up of-
A) Wood B) Metal

C) Wax D) Plastic

SATCHT FITECH FAY I Tk YesT FT I/ FIAT § -

A) g3 B) #HAcdl
C) ad D) cenf¥esd
Answer Key : C Your Response : A (Wrong)

Question No. 112

A perfect frame has N joints. The number of members should NOT be less than-
A) 2N-1 B) 2N-2

C) 2N-3 D) 2N-5

T Whae BA 7 N S5 §1 A i g&r ¥ FH 787 el T

A) 2N -1 B) 2N - 2
C) 2N -3 D) 2N - 5
Answer Key : C Your Response : B (Wrong)

Question No. 113

Which of the following is an example of Thermosetting plastics?
A) Polystyrene B) Nylon

C) Urea formaldehyde D) Vinyl plastics
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yHfAfET vonfees #1 v 3o Aefaf@a F§ ¥ Fla ar g2

A) TifrETSd B) sTsard
C) IRAT wrHTesgIss D) faerger caliéead
Answer Key : C Your Response : D (Wrong)

Question No. 114

Davis steering gear consists of -

A) Sliding pairs B) Turning pairs
C) Rolling pairs D) Higher pairs
sheERRT A A & §l
A) TS IIA (pairs) B) efefer goA
C) Afelar goA D) 8RR I7HA
Answer Key : A Your Response : B (Wrong)

Question No. 115

The velocity ratio of a third system of pulleys with four pulleys is-
A) 8 B) 11

C) 15 D) 16

G foel gomelr ¥ T foRel Jomelr &7 A9 fegureT fhce T 87

A) 8 B) 11
C) 15 D) 16
Answer Key : C Your Response : A (Wrong)

Question No. 116

The process of fixing different links of a kinematic chain one at a time to produce distinct
mechanisms is called-

A) Kinematic inversion B) Kinematic coupling

C) Kinematic structuring D) Kinematic acceleration
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v RARIST 97 &1 AAr W & v, tF 7T F v WF FEaaed 9 F R e #r
81 FTA T UTHAT Y FAT gl AT &7

A) Wﬂﬁﬁ: srasia B) chlsofldfl'f\ch JIHA
C) FEAATeCH TeaaRdr D) FEaACH caiol
Answer Key : A Your Response : A (Correct)

Question No. 117

The hydraulic gradient line is-

A) Always below the total energy line B) Always parallel to the bottom

C) Same as central line of action D) Always above the total energy line

gsgifoe Afsde Yar -

A) AT Fel Foll [T & = § B) & A & HHAAK &

C) F=arT Y@r & FA § D) &AM FoT Foll @ & FW ¥
Answer Key : A Your Response : A (Correct)

Question No. 118

Which of the following types of jig is used to drill a series of equidistant holes on the circular
surface of a workpiece?

A) Index jig B) Plate type jig

C) Open type jig D) Pot type jig

ffaf@a 7 & fFe 9oR F o1 7 3uaher e i gedR Jag W FART JHawarer Sar $r
Sofr o (B == F fav R smar 82

A) g3F a7 B) celT 239 &1
C) 34U @3y ST D) dfe ersq T
Answer Key : A Your Response : A (Correct)

Question No. 119

A beam made up of two or more different materials assumed to be rigidly connected together
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is known as-
A) Simply supported beam B) Flitched beam
C) Cantilever beam D) Fixed beam

e o & & 3w Rffe awfRt & s gan O, S vE W FIE F ST g0 Aw I
AT gl STl 872

A) TBFgel guiés e B) Wellces &1 (Flitched beam)
C) odrellax & D) fheres 1A
Answer Key : B Your Response : B (Correct)

Question No. 120

What is the main objective of Parkerizing?
A) To increase the toughness B) To protect a steel surface from corrosion

C) To give a glossy look D) To improve the ductility

UIRISTRT (Parkerizing) T H{&T 32T AT 87
A) FIUT Tl & U] B) ¥l & Adg Pl TWEIRUT I FdTel & TolT|
C) Toliell o &t & faIT| D) detereflierdr (ductility) 3 FUR &t & ol

Answer Key : B Your Response : C (Wrong)





